0 2)

150 3000 150
77h-t0b Go2f) M1 =450 ot o M o)
MQ'ZE%M _BTy
350 300/ 350
= - ‘ = = = 4k-D16
= FG1 —| — = =
@ e & D10 @150 A
- = N =
5-D10 i =
— Tvh=#w} (7976) o - ] ~ -
= 0 1§ 1450 B = — =
| = & F 148
@ + —— ES —
- 300 TY/h=fmb (777ﬁ) M]B LzlLSU
— — = | — = ﬁ':iﬂ' |‘
= © rob-ink o) 2 150 | || 150 S D13 L
M6 1=450 <
g T D10 @300 ——— T
® s w | =
- 2-D13 =
1000 {300 | (100
n T/h-Fwb (79240) L
= N16 L=45 < _FGITH
F 1 HES  “Fy b
51 [ E@sex 130 |
N o N SESMED : 50kN,/nf
3000 IEZ B&ENo. ZAENo.
BRZ BE :jc%é
| EWMAX 150 | [KRR—=ZNY X HHL ! 1045
Mz EZR | BN | 8N KEF
EMAN - RN H5DHA10789
R 1 /50 | fiREAE B 7 A FEMIEKRSH




